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� %����� !��
� ��(	��!
) $%�'

����� ��� ���� �����
��� ����
����

� *+	

( �)��)	� "
� ������)��)	, (
	���-)
 #��)

� �+	

( �)��)	� "
� ������)��)	, (
	���-)
 #��)

� ���	,�)� 
" ��) �)��)	 ���!#�!�)

����
���� �� �����
��� ����
����

� ./0 123/ �
	!��
� "
� ρT %� ϕρ

� 1������) 
" ��) ��-) 
" ./0 )�
	!��
� )4)#��

 ��	�������
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� ���������

�##
�
��5 �
 "�#�
��-���
� ��)
�)�� 61"�)�
�72�
,!����� *89�:
��) ��
�
��# �)��
� Hμν #��  ) �)(�)�)��)
 ��;

Hμν ∼
∑

i

C(x ;μ2
F ,Q

2) ∗ fi (x , μ
2
F ) + O(

1

Q2
)

<�!�		, μ2
F = Q2�

C(x , μ2) = Aδ(1 − x) +
∑

n≥1
an

s(μ2)Cn(x , μ2) $=�)�) as = αs/(4π)' >

#
)?#�)�� "!�#��
� > #�	#!	� 	) �� (@A%�

fi (x ,Q
2) ∼

∫
dzeix(zp) < P|q̄(z)Γ̂U(z, 0)q(0)|P >z2=0

U(z, 0) = P exp(ig
∫ z

0
Aμ(τ)dτμ)

> (���
� 
����� !��
� "!�#��
� $�%&'B
#���
�  ) 
 ����)
 =����� (@A%�

3!� )�
	!��
� #��  ) #�	#!	��)
 �� (@A%�
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������������ ���������� �� �������
� ���������

%� ����

!#)
 �� ����	�� =�,;

ϕM (x ,Q2) ∼
∫

dzeix(zp) < 0|q̄(z)Γ̂U(z, 0)q(0)|M(P) >z2=0

e
ν

B ρT

b

d

B → ρ e ν 
)#�,

AB→ρ
i (t) =

C(t ; x) ⊗ ϕρ(x ;μ2) + O(
1

M2
B

)
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������ ������ �� �������������
&
� ������)��)	, (
	���-)
 
����� !��
��;

Γ̂ = σμν

� !�
"�
� ���

���
��� h1(x ;μ2) $"
� ������)��)	, (
	���-)
 ��
�
�'
��

#����		,+


 ⇒ � �)�� �� "!		, ��#	!���) %C�

3!� �� �(()��� �� ��
�
�+��
�
� #
		���
�� $%�)		DE�� (�
#)��'

h1(x) = f↑(x) − f↓(x)

h1(x ;μ2) ∼ pμεν

∫
dzeix(pz) < h(p, s)|q̄(0)σμν q(z)|h(p, s) >

∣∣∣
z2=0

� ���

���
��� �#���
��� "
� ������)��)	, (
	���-)
 ρT +�)�
� ;

ϕT
ρ (x ;μ2) ∼ pμεν

∫
dzeix(pz) < 0|d̄(0)σμν u(z)|ρT (p) >

∣∣∣
z2=0
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������� �!������

%����� !��
� "!�#��
�� fi (x , μ2) )�
	�)� �##
�
��5 �
 %F/�� 69�+99:
)G!���
�;

μ2 df (x ; μ2)

dμ2
=

∫ 1

0
δ(x − yz) P(z) f (y ;μ2) dz dy ≡ (P ∗ f ) (x ;μ2);

γ(N) =

∫ 1

0
P(z) zN dz .

��(	��!
)� ϕ(x , μ2) )�
	�)� �##
�
��5 �
 123/ 698+��: )G!���
�;

μ2 dϕ(x ; μ2)

dμ2
=

∫ 1

0
V (x , y) ϕ(y ;μ2) dy ≡ (V ⊗ ϕ) (x ;μ2)

0!� 5
�	� ��) ��) �)��)	�;

PT (x) = as PT
0 (x) + a2

s PT
1 (x) + . . . ,

V T (x , y) = as V T
0 (x , y) + a2

s V T
1 (x , y) + . . .
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"#���� ���� $����� ��� �����
������ ������ �� �
%�

V0(x , y) =
−CF ξδ(y − x)

P0(z) =
−CF ξδ(1 − z)

V0(x , y) = 2CF ·(
Cθ(y > x) x

y
1

y−x

)
+

P0 = Cf

(
4z

1−z

)
+

V (x , y) =
−CF (1 − ξ)δ(y − x)

P0(z) =
−CF (1 − ξ)δ(1 − z)

H)�) C = 1 + {x → x̄ , y → ȳ}

V T
0 (x , y) = asCF

[
2
(
Cθ(y > x)

x

y

1

y − x

)
+
−δ(y−x)

]
63�

��,7/)(�5)B ��:

PT
0 (x) = asCF

[( 4x

1 − x

)
+
− δ(1 − x)

]
6����!7�)�IB 8�::
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&������� �� ���� �!������� �' �������
�����	���
�� ���� 

yȳV0(x , y) = xx̄V0(y , x)

F)5)� �!)� (
	,�
���	� Cν
n (x) ��) )�5)�"!�#��
�� 
" 
�)+	

( �)��)	;

(V0 ⊗ ψn) (x) = γnψn(x) , ψn(x) = 6xx̄ C3/2
n (2x − 1)

1J(��
��5 
����� !��
� ��(	��!
)� �� F)5)� �!)� �)��)�

ϕ(x , μ2
0) =

∞∑
n=0

an(μ2
0)ψn(x) ,

=) )���	, 
 ���� � �
	!��
� 
" 
�)+	

( 123/ )G!���
�

ϕ(x , μ2) =
∞∑

n=0

(
α(μ2)

α(μ2
0)

)−γn/b0

an(μ
2
0)ψn(x)
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(�' ����)�	�
� $������

V , P = as∂as K 1 R′(G)$ R′ % ��	�#���
� R����
�
���$
���&
�#� G �
�'

+ 11 ���� ������ ���*����
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(�' ���� $������ �� �(�#���

H)�) F T =
x

y

1

y − x

V (x , y) = 2Cf (Cf −
Ca

2
)

{
Cθ(y > x)

[
2

y
ln
(

1 − x

y

)
− 2

yȳ
ln

x

y
ln
(

1 − x

y

)

+
2

yȳ
ln x ln x̄ + F T

(
4/�2

(
1 − x

y

)
+ ln2 x

y

)]
+ GT (x , y)

}

GT (x , y) = −4C
{
θ(y > x)

(
F̄ T ln x̄ ln y − F T [/�2(x) + /�2(ȳ)

]
+
π2

6
F T

)
+

θ(ȳ < x)
(
(F T−F̄ T )

[
/�2

(
1 − x

y

)
+

1

2
ln2 x

]
+F T [/�2(ȳ)−ln x ln y

]
+F̄ T/�2(x̄)

)}
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(�' �	�
� $������ �� �(�#���

H)�) p0 =
4x

1 − x

Pqq(x) = CF

(
CF − CA

2

)[
p0

(
4/�2(1 − x) − ln2 x

)
+ 8 ln x̄

]

Pqq̄(x) = 2 CF

(
CF − CA

2

)
p0

(
/�2

( |x |
1 + |x |

)
− /�2

( 1

1 + |x |
)

+
1

2
ln2 |x | − ln |x | ln(1 + |x |)

)
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�+	

( 
��5��� G = W (�)�����) ∗ E(�! 5��(�)

P ( V ) = 2K 1 R′( W ∗ E) = W ∗ E − W ∗ E

=) ����

!#) ��) 5)�)��	�-)
 *+	

( �)��)	;

W (x ; δ) = 4
x1+δ

1 − x

(
1

y
W
(

x

y
; δ

) )

C� �� )��, �
 �)) ����

� ���5!	�� (��� W =
W (x ; 0)

δ
=

p0(x)

δ

� I���) (��� W − W = Ẇ (x ; δ)δ=0 = ṗ0(x) = 4
x ln(x)

1 − x
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&�������� �� $�����
�; 2)�
���	�-���
� 
" #���5) g

g(μ2) → ḡ = g(μ2) − b0g(μ2)3 ln(Q2/μ2)

W (x , δ)

asb0

b0 ∗ Ẇ (x , 0)

%��5����B =��#� #
����� #
��)#��
�� �
 G!���+5	!
� �! 5��(� Eqg(δ)B ���)
�� 
��)���
��	 �)5!	���-���
� ��) "
		
=��5 "
��;

Eqg(δ) =
b0

δ
+ Ė(0) + O(δ)

2KR′
(

G = W (x ; δ) ∗ Eqg(δ)
)

=

− 1

δ2
b0W (x ; 0) +

1

δ
b0Ẇ (x ; 0) +

1

δ
W (x ; 0) ∗ Ėqg(0) + O(δ0)
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&�������� �� $�����

3; 2)�
���	�-���
� 
" *+	

( #
�(
���) 
()���
�

K�)�) 
��5���� #
����� #
��)#��
�� �
 
�)+	

( �)��)	;

2KR′
(

G = W (x ; δ) ∗ W (x ; δ)
)

=

− 1

δ2
W (x ; 0) ∗ W (x ; 0) +

1

δ
W (x ; 0) ∗ Ẇ (x ; 0) + ..
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'�� �������� (�' �	�
� $�����

PT
1 (x) = CF

{
ṗ0 ∗

(
b0*	− P0

)
+ p0(x)

[
CA

(
67

9
− π2

3

)
− 20

9
Nf Tr

]}
+

+CF

(
CF − 1

2
CA

) [
4x̄ − 2

(
p0(x) ln2(x)

)
+

]

+δ(1 − x)CF

[
CF

43

2
− CA

365

18
+ Nf Tr

26

9

+
(
CF − CA

2

)
8
(
ζ(3) − π2

3

)]

K��� &),����+5�!5) �)�!	� #
��#�
)� =��� ��) L	�5��+#
�)M 5�!5)
#�	#!	���
� 
" �
5)	���5 N8�
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V T
1 (x , y) = CF

{
V̇0 ⊗

(
b0*	− V0

)
+ [g+ , ⊗V0]

+2Cθ(y > x)FT
[
CA

( 67

9
− π2

3

)
− 20

9
Nf Tr

]}
+

+ CF

(
CF − CA

2

)
· 2

{
C
[

2θ(y > x)
x

y
+ 2θ(ȳ < x)

x̄

y

]
+ 2GT (x , y)

}

+ δ(y − x)CF

[
CF

27

2
− CA

221

18
+ Nf Tr

26

9

]

K��� &),����+5�!5) �)�!	� #
��#�
)� =��� ��) L(�)
�#��
�M "�
�
63)	����,7�O!		)�7&�)!�
 N��:

g(x , y) = −2C θ(y > x)

y − x
ln
(

1 − x

y

)
, 6%� �O!		)� N8P:

&���� �=
 �)��� $�)
 ��
  	!)'  �
�) ��) #
�"
���	 �,��)��, 
" V T
1 �
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+,��$ V -��, P

Q)��)	 P(x) #��  ) 
 ����)
 "�
� V (x , y) ���
!5� �����"
�����
�
6%� �O!		)� )� �	�B 8P:;

P(z) = lim
τ →0

1
|τ|V

(
z
τ

,
1
τ

)

V 0(x,y) → P0(x)

V̇ 0(x, y) → Ṗ0(x)

V̇0 ⊗
(

b0 − V0+

)
→ ṗ0 ∗

(
b0 − P0

)
C
[
2θ(y > x)

x

y

]
→ 4(1 − x)

(����
��
 θ)G(x , y) → −p0(x) ln2(x)

(�
�����
��
 θ)G(x , y) → PT
1qq̄

[g+ , ⊗V0] → 0
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&������� �� ���� �!������ �� (�' �!
���
��
�����	���
�� ���" 

�� �=
+	

( 	)�)	B ��) �
	!��
� 
" 123/ )G!���
� �� �
� 
��5
��	 ��
{ψn(x)}+ ����� K�) �((�
J����) �
	!��
� "
� ψn, ψn(x) → Φn(x , μ2) �)�
�

Φn(x , μ2) = exp

( ∫ as(μ2)

as(μ2
0)

γn(a)

β(a)
da

)
·
[
ψn(x) + as

∑
m>n

dmn

Nm
ψm(x)

]
,

γn(as) = asγ
(0)
n + a2

sγ
(1)
n ,

β(as) = −a2
sb0 − a3

sb1 ,

dmn =
Zmn

γ
(0)
n − γ

(0)
m − b0

[
1 −

(
α(μ2)

α(μ2
0)

) γ
(0)
n −γ

(0)
m −b0

b0
]
,

Znm = C3/2
n ⊗ V ⊗ ψm , Nn = C3/2

n ⊗ ψm =
(n + 1)(n + 2)

4(2n + 3)
δmn

γn �� ��) 
��5
��	 �)�� 
" �����J Zmn; γn =
Znn

Nn
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&������� �� ���� �!������ �� (�' .���������/

�� �� )J��(	) =) ��
= ��) )�
	!��
� 
" ��) R+�� ����
��# �)��

6xx̄C3/2
6 (1 − 2x) "�
� 1 F)�2 �
 25 F)�2;

0.2 0.4 0.6 0.8 1
x

�3

�2

�1

1

2

3

��x�

1�loop

2�loop

original

14)#� 
" ./0 �� 	)�� ���� 1% "
� ��) ��(
����� G!�����, 〈ψ6(x)

x
〉�

&
� 
��)� ����
��#�

〈ψ0(x)

x
〉 = 4%B 〈ψ2(x)

x
〉 = 1.4%B 〈ψ4(x)

x
〉 < 1%�
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&������� �� ���� �!������ �� (�' .���������/

K�) ρ+�)�
� �

)	 %� 
" 63��!	)�7������	
�B ��: �� 1 F)�2 ��� ��)
"
��;

ϕT
ρ (x , μ2

0 = 1 F)�2) = ψ0(x) + 0.29ψ2(x) + 0.41ψ4(x) − 0.32ψ6(x)

�� 25 F)�2 =) ���);

0.2 0.4 0.6 0.8 1
x

�0.5

0.5

1

1.5

2

2.5

3

��x�

1�loop

2�loop

original

.
���	�-)
 
�4)�)�#)  )�=))� *+ ��
 �+	

( )�
	!��
� #
������ 
" � 
!�

PS "
� 〈ψ
T
ρ (x)

x
〉 $��S �� x =���'�
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� 0 ���� %F/�� ��
 123/ )�
	!��
� �)��)	� �� /0 ��
 ./0 "
�
������)��)	, (
	���-)
 
����� !��
���

� ./0 123/ �)��)	 "
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	���-)
 �)�
� %� ��
��) �)= �)�!	��

� �
	!��
� 
" ./0 123/ )G!���
� "
� ������)��)	, (
	���-)
 %�N� ���
 ))� 
 ����)
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" �((�
J����) �
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� #��  )
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